Kerro desimaalit kymmenelld negatiivisella
potenssilla

5931,1 x0.01 =

2884, 6 x 0.0001 =

Paivimaara: Pisteet:

8052, 8 x 0.0001 =

2566, 3 x 0.001 =

5054, 4 % 0.0001 =

3520,4 % 0.001 =

2960 x 0.01 =

7483 x 0.1 =

2931,8x 0.1 =

5601, 7 % 0.0001 =

7073,7 % 0.1 =

4685, 8 x 0.01 =

1734,5 % 0.0001 =

1983,2 x 0.01 =

2657,2 x0.1 =

6403,6 x 0.1 =

2961,4 x 0.0001 =

7975,7 % 0.0001 =

9116,9 x 0.1 =

1931,9 x 0.01 =
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Kerro desimaalit kymmenelld negatiivisella
potenssilla

5931,1 x0.01 =59.311

2884, 6 x 0.0001 = 0.28846

5054, 4 x 0.0001 = 0.50544

2960 x 0.01 = 29.6

7483 x 0.1 = 748.3

2931,8 % 0.1 =293.18

5601, 7 x0.0001 = 0.56017

2657,2 % 0.1 =265.72

6403,6 x 0.1 = 640.36

2961,4 x 0.0001 = 0.29614

Paivamaara: Pisteet:

8052, 8 x 0.0001 = 0.80528

2566, 3 x 0.001 = 2.5663

3520,4 x 0.001 = 3.5204

7073,7 x 0.1 =707.37

4685, 8 x 0.01 = 46.858

1734,5 % 0.0001 = 0.17345

1983,2 x 0.01 = 19.832

7975,7 % 0.0001 = 0.79757

9116,9 x 0.1 =911.69

1931,9 x 0.01 = 19.319
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